7| A& st 48hA 200921656 &=21ed, &6t e K=
0= X
- ~ 1
oM N2 dE, 2 A SRR YA e Ho = Fo|MOl A= < &~ Q| o= LiE0| S0|2XRULCE ofX|BF Z=MEES S

AX| 2ME0l MM HAE MEotn < miofty 2O B2 022 AQ0RIC T 270 T=alg £, E SUsHM 1 01R77
=20 2537 hE0[2ts As =40 22| Hoids tlddiofHA Ol2fer =20 =il VA ERIL, S06], 55 Ol=er =A| shi& 2E0
Sals TEXA EIRUCE e T Ad=d ) ab Te2lgt 200, o] SHEIA KFE 24610, eldiE0] Al 2XMIE AelMe= b
Zodq1 & I 771 &0t A g2l A0| O 22| Hojg 2] =X0|Ct,

oM Ad=E, ML 7= 2|t FAUTE KA 2] FHI=S

[0 =ASH 0N a2t bE 7| (base), FHI=5C HaM A
cot 0 HX{(large)0 |2t Bt base aroet X=F, G H 59 Mg zH=r
7|x{2] ThS TH(a:b)ot RALSH EXO| ST Ve E G H 9ol Qale AElS zier}

o= )| Z2HILH=E 1P ‘O =<SH P 71 ot r N

(IS OIB01HI= 2FIS 55 eI 1 B C (742)) etk XE Qete 4Eg 71 2ol
7| Xt HA Afo]Q] AH2I(RO0R7} Tz . - _ i} A
o= TA7} o AO|MO|2tT WCHEHT} ‘ .C?HltisOl%f FALS0 et HE F=E= E'E“_DJEF. _

- M22 2HIE sl Z5t7] 2I510] 0|0 Ql=ssl - =2[e0NE =55 24010 =55 HeX A= #oiotl =89 e
_ A= = IT re)

AS(XIA)S 0I23HM M= ZXIE s Hst= ([SS=)S BUKelh,

_ _ _ _ . OH|L===0]| 14 St = X ZA= O| Af24 Ad O| A}24 Ad

A2 854 EXlei&(analogical problem—solving) S=0| LA} m H=s2l 87re=3 J)_(ﬂgf = Aolef 2iEd (F, G H2F Q Afo|9] &Ed)
ol2tT Bict 2=0| =58 4=0| 2 IJef= oft

Al (=3
=M BE AR
o o
UX=10 =2 ALO|2] FAFS
20M|7| ZEIZIX|O| §Xte| HARE2 RIXIO| B&1) A 2& A

O|SoIUCt. Ol2fet DA HO{o| HEREE RIXfo| &6t AHEZS

Cf E2 3= TRl 3242 Tscts oiMg 07|11 st 2ais Ot
=50l H=E AEICE 0| 2oz EXte| STt AHEZ0| 219

’ = O
& ENnt FAGIHHE A2 YA ZIRULCE
O|lzfst SZo| dnt2 E2f3= 19183 LLHAS IRUCE
A —
~dsl 2 ™ME 7}

SS= HEEYNN? S=d8e0f? — 24 732 xio|

QEZ 0|2513 ZES B4 H20|XY THM| HIsH S0/o] |7t 1R HA S Bo)
HI20| UM SXIE Zi0l2ts 20| 7155l S5 AR 0lsH5H HSO2 riAo] &
QX0 HES Cl2n, K57t HS0f Hish AS20| QCHs S =2|sto| ‘Rul=z9| B £
11 E SN ML ZE A0|2] BIEA(F, G, HRH Q AL0]2] RAA) SR0| =50 A0 2

SH|=Z0| HAIS JiX|CiatE FAot Z2 Afo]o] TANO| SCIH &S TAM0| QICHH K52

S= B3| Hol - FFe 7HFx

OIS A JMSS0| ERHE 1Y, =2l M| TH F2) 9| JHES 055l Of B K52 o 4 Q) el
71 2l 0]0| LHAESHARM(E)O| off ZHASHE=T 1S Sal5H= Z00(Ck 0]0] BOFS 04! 70| f
FEIR 01010k SHH, MEAH| U2iT! AbAl0| CHEH “MHEY S Jhxi0f Bich Dfx[alo2 F= A 94
MIHES QI Bt 4 Qlofof it
1970 L O FVIX|Q] B BZEO| Q10| 0| X7 [EIQAXID K-T ZAISC| 27dnt R7IEH gt -
SIHAl SE TEO| 20I0| A3MO|LE 24| BE UhR0|2ks 7HH0| L2 2 7HES ATsts MHES 1K T

AK-T AAS AS7IEHHHE 38|0[E

| QL

0|L| 22E0| 4% - K50 R84
SET} ROl 2| S YHI0|2ID WYt B 0|RE REE AIRS 11o| 75X RANES FE CH2 20fo|E XME5t7| 47| th2o|ck
T20| SR2AY 20t 21} 0|L| SZ| 30| FS 202 F= A0[of= M= E7(of= GHEo| 0| HOIC SEXITH AL SRAd0| fI2|(Rulet THEO| Hoj| whah P
Alo| ZRIXICHE 0[5t QICHH, O|L] S2420] 013 Ab7| MH20f EHXO| H|7} B KA SLAI0] OFFF 2T 0|L| S2S0| O1F B 23S JIX|A| 2 Z0[2k=s ZS £4A
Ofalat 4 QICh REL Ehas| 2HIZ siZ517| YISt =701 Z40] Of|2t 04! 2HIZ 20| 0lsistn 283t 4 Qle 4o =it

7
— L—

R M2 Moo 7|BF ofttiT = &~ QUL ofX|BF FFE X siZ0l| HM&Eot= A2 =2|=H0| 22y, "¥oM Aned, of =g FAURUTY,
= IimE SN O] &= 7K 525 YA IZ = AT As E o+ UL Fce BEO0| =X1Z sii&sie HA0M AN Ai=s A0| GICt 82
5t 4 QICk IXIZH SFH ALOIM ZRFE 20| ChAS 20| 0fslislol Mal T2 2ofofl M8 4 Urts M2, ‘RF 2i= Jid xixo] EMSS ol

[SHeCHH SL2|7F U7 |0 A8 XLEE 2 UdESsS O 021D O 40| B+ 4~ = AP gdE 4 UCHD 2ol

AJOU UNIVERSITY




